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Ritp:/ffarbe i tu-berlin.de/ CEBA/CEBALONA TXT /.PS; start oltput
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

LABJNDu4 standard lightnessl*

Ya=Yw - nc=100,

I* L ABINDU4 =IN(A 17+ A2RY)/(AnAon)  (Ynd/100<Y<=Y,o)
I* L agaNDua =IN(A 15 +A2 )/ (A2Aon) - (X=YIYy)
1 (3,6)=348* ,(18)=791,* \y(90)=1231

log[1*/I J=0, m=0,33

1
I* 6¢=1231,47, A= 8, A 70,0438, =0,42
I*16=791,01, A= |07, 4,=0,0024
I*3,6=347,89)%,=7 1'01\@ 18 1

u |>h1

application
range

wXn=02  'xy=5

LABJINDu4
tristimulus value difference
Yoe=Yw - nc=100,

I* L ABINDU4 =IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Yyo)
I* L ABINDU4=IN(A 17+ A2) (A2 Aon) - (X=YTYy)
dY:Aon(A 1n+A2nY):A0n(A1n+A2UX) XZY/Yu
Aonpss=L5, Aona=1,0, see CIE 230:2019

A2 004 g g—

Iogqug gg '@:%%07 UAP s 0054 app"caﬂon
dYM-o 02 Y,=18 d¥% 4,07 L

, =

xN=0,2 Xw=5

log (AY/Y) LABJINDu4

_ tristimulus value sensitivity
S=@vr) YotV nc=100
I* L ABINDU4 =IN(A 17+ A2nY)/(A2nAon)  (Ynd/100<Y<=Yno)
I* L ABINDU4=IN(A 17+ A2) (Ao Aon) - (X=YTYy)
AYY=Agy(Arr+ Ao Y)Y =Agn(Ag A )Y
(dY/Y :=0,0037, A=1,5, Ay=0,0438, G=0,42
(dY/Y)§=2.0042, A=0,007, A4,=0,0024
(dY/Y) ¢=0,0066 Y,=18, dY=0,07

application

LABJINDu4
tristimulus value contrast
Yoc=Yw nc=100
I* L ABINDU4 =IN(A 17+ AR Y)/(A2nAon)  (Ynd/100<Y<=Yno)
L aganDua =IN(A 10+ A2X)/ (A Aon) - (X=YTYy)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]
(Y/dY}g=265,04, Ay=1,5, Ay =0,0438, ¢=0,42
(Y/dY), 8‘235 34 An 0,007, &n 0,0024
e |

C,=(Y/AY)

Iog(Y/dY):Z 37, m;=013 -~~~
7

application

I
1
1
1
1 range

1x,=1

Pw=5

LABJNDu4 relative standard lightnessl*/I*
I Yoc=Yw - nc=100,

11 ABINDU4=IN(A 17+A2RY)/(A2rAon)  (Ynd/100<Y<=Yo)
%1 ABINDUA=IN(A 10 +A2X) (A2 Aon)  (X=YTYL)
1 (3,6)=348 * ,(18)=791 [* y(90)=1231
I* ggfl* ,=1,55, Ay,=1,5, Ay, =0,0438, ¢=0,42
I g/l =1,00, A;=0.007, A,=0,0024
I*3,d1*y=0,43,1%,=791,01 Y=18
log[i*/I* J=0, m,=0,33
L* =49, I* ;=791

log(AY/AY,) LABJINDu4 relative

tristimulus value difference
NNy Yoc=Yw - nc=100,
1L ABINDU4 =IN(A 17+A2RY)/(A2rAon)  (Ynd/100<Y<=Yoo)
1L ABINDU4 =IN(A 17+ A2) (A2 Aon) - (X=YTYL)
dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=4,43, Ay=1,5, Ay=0,0438, ¢=0,42
dY;g/dY,=1,00, A ,=0,007, A;=0,0024
dY3 ¢dY,=0,31 Y,=18, dY;=0,07 y
p
07, dY,/Y,=0,0042 %/

XN=0,2 Xw=5

log [(AY/Y) 1 AYIY),] LABJINDu4 relative

tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc
1L ABINDU4 =IN(A 17+A2RY)/(ArAon)  (Ynd/100<Y<=Yoo)
1%L ABINDU4=IN(A 17 +A2) (A2 Aon)  (X=YIYL)
(dY/YY(AYIV)=[(A 1+ A )X (A 17+AZ0)
(@Y/Y)o(dYN=0,88, Ay=1,5, Ay, =0,0438, G=0,42
(dY/Y)g/(dY/Y)=1.00, A=0,007, £5,=0,0024
@YYy g(dY/YV)=1,24 Y, =18, dY=0,07

EES
log[(dY/Y)(dY/Y) =0, m=-0,13 1 .
I* =791, d¥,=0,07, dY,/Y,=0,0042 ?g’npg','ga""”

=1

XN=0,2 Xw=5

log [(Y/AY) 1 (YIAY),] LABJINDu4 relative

tistimulus value contrast
ClCr=(YIAY(YIAY)y . =y, - =100

1L ABINDU4 =IN(A 17+A2RY)/(ArAon)  (Ynd/100<Y<=Yoo)

11 ABINDU4 =IN(A 10 +A2) (A2 Aon)  (X=YTYL)

(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)
(YIAY}o(Y/AY)=1,12, Ay=1,5, Ay, =0,0438, ¢=0,42
(Y/dY)g/(Y/dY)=1,00, A ,=0,007, A,;=0,0024
(Y/dY} (Y/dY)=0,64 Y, =18, dY=0,07
log[(Y/dY)(Y/dY),]=0, m,=0,13

* =791, dY,=0,07, Y,/dY.~ Zs5 ~
r 1 application
1 range
Iy =1
Sl (S
XN=0,2 Xw=5

LABJNDu4 standard lightnessL*

YoeL*w -~ nc=100

L*Laganpua=IN(A1n+A2nY)/(A2rA0n) - (Yac/L00<Y<=Y,c)
L* 1 aBanDua=IN(A 10+ A2 X)(AgAon) - (X=YTY)
L* (3,6)=348 L* ,(18)=791,L*/(90)=1231
log[L* /L* jJ=0, m,=0,33
= 1
1
1
1
L*90=1231,47, Ay~ |15, Ay =0,0438, ¢=0,42

L*15=791,01, A= 807, A,=0,§024
L*5,67347,89%= ' FL.03 181

o =1

application
range

=02 "xy=5

CEB40-1A
logAY) LABJINDu4

AY trislimulus vaILLe difference

Y=L w nc=100,
L*Laganpua=IN(A1n+A2nY)/(A2rA0n)  (Ync/100<Y<=Y,o)
L*Laganpua=IN(A 1t A2 )/ (A2 Aon)  (X=YTYy)
dv:AOn(A1n+A2nY)=A0n(A1n+A2uX) X:YIYU
Aonpes=1,5, Aon a=1,0, see CIE 230:2019

* =791, dY,=0,07, d¥,/Y,=0,
I 8,83 ol Ao0.0474 — ===
Ogm’q:o .07, 'ﬁ‘; =0,007, UAP, 7 0024 a;fg"'caﬂon
dY3,e—0 02 Y,=18, d¥ 4,07 e ge
- =

XN=0,2 Xw=5

CEB40-3A
log (AY/Y) LABJINDu4

tristimulus value sensitivi
S=@YHY) Yo=*w - :nc=100. 4

nc’

L*Laganpua=IN(A1n+A2nY)/(A2rA0n)  (Yac/100<Y<=Y,o)
L*Laganpua=IN(A1nt A2 X)/(A2iAon)  (x=YTYy)
AYIY=Por(A it AgY)Y=Ag (A it AgX)/Y
(dY/Y}5=0,0037, Ay=1,5, Ay =0,0438, ¢=0,42
(dY/Y)g=0,0042, A=0,007, A4,=0,0024
(dY/Y} £=0,2066 Y,=18, dY=0,07

application

CEB40-5A

LABINDu4

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’

L* L aBaNDUa=IN(A 15+A2nY)/(A2rAcn)  (Ynd/100<Y<=Y,0)
L* LaBaNDua=IN(A 15+A2 ) (Ag Aon) - (X=YTYY)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]
(Y/dY}g=265.04, Ay=1,5, Ay =0,0438, ¢=0,42
(Y/dY)g=235,34, A=0,007, &n 0,0024
®5 u‘fﬂ‘%:&ﬁﬂi)
Iog(Y/dY):2,37, m=0,13- =~ ~

application

I
1
1
1
1 range

1x,=1

Pw=5

CEB40-7A
CEB41-7N

LABJINDu4 relative standard lightnessL*/L*

LHIL* Yoc=L*w - nc=100,

L* L aganDua=IN(A 1n+A2Y)(A2rAon) - (Yad 100<Y<=Y,o)
L* L apanDua=IN(A 15+ A2 ) (AgiAon) - (X=Y/Y)
L*(3,6)=348 L* (18)=791,L* ,/(90)=1231

L*gg/L* 71,55, Ay=1,5, Ay =0,0438, ¢=0,42

L*1g/L* 1,00, A,=0,007, A4,=0,0024

L*3dL*,=0,43,L*=791,03 Y=18

log[L*/L* =0, m,=0,33

L* =49, L* =791

CEB40-2A
log(AY/AY,) LABJINDu4 relative

tristimulus value difference

AYIAY, Ve irl
L*LagaNDua=IN(A1n+A2Y)(A2rAn) - (Yad 100<Y<=Yyo)
L1 aganpua=IN(A 10t A2X)(A2iAon) - (X=YTYy)
dY/dY =(A1+A X (A1 +AY)

dYoy/dY,=4,43, Ay=1,5, Ay =0,0438, ¢=0,42

dYyg/dY,=1,00, A=0,007, A,=0,0024

dY;,¢dY,=0,31 Y,=18, d\=0,07 P

y

application
nge

=1

CEB40-4A
log [(AY/Y) | (AYIY),] LABJINDu4 relative

tistimulus value sensitivity
SISU=OYNIAYIY), oo e YEHE TS

nc’
L*LaganDua=IN(A1n+A2Y)(A2rAon) - (Yad 100<Y<=Yyo)
L aganpua=IN(A 1ntA2 ) (A2yAon) - (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)
(@Y/Y)o(dY/Y)=0,88, =15, Ay =0,0438, ¢=0,42
(dY/Y)g/(dY/Y)=.00, A=0,007, £5,=0,0024
@YYy g(dY/Y)=1,28 Y, =18, dY=0,07

N
log[(dY/YY(dY/Y)]=0, m;=-0,13 1
L* =791, dY,=0,07, d¥,/Y,=0,0042}
Ix=1

XNn=0,2 Xw=5

CEB40-6A
log [(Y/AY) I (YIAY),] LABJINDu4 relative

/Gy =(YIAYY(YIAY), t\|(st|n|‘_n*1|us value contrast

nc™

L*LaganDua=IN(A1n+A2Y)(A2rAon) (Yo 100<Y<=Yyo)
L* L aganDua=IN(A 10+ A2 ) (A2yAon) - (X=YTYy)
(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)
(YIAY}o(YIAY)=1,12, Ay=1,5, Ay, =0,0438, ¢=0,42
(Y/dY)g/(Y/dY)=1,00, A=0,007, /5,=0,0024
(Y/dY} (Y/dY)=0,64 Y, =18, dY=0,07

log[(Y/dY)(Y/dY),]=0, m=0,13

CEB40-8A

TUB-test chart CEB4; LABINDu4*(Y) & L*(Y), Yn=(Y&L*) wne x=0,43, with more data
Absolute and relative lightness, sensitivity and contragt=A5, A1n=0,007, A=0,0024, A,~=0,04
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